1. Espresso Express operates a number of espresso coffee stands in busy suburban malls.  The fixed weekly expense of a coffee stand is $1,200 and the variable cost per cup of coffee served is $0.22.
Required:
1. Fill in the following table with your estimates of total costs and cost per cup of coffee at the indicated levels of activity for a coffee stand.  Round off the cost of a cup of coffee to the nearest tenth of a cent.






Cups of Coffee Served in a Week


	
	2000
	2100
	2200

	Fixed cost
	
	
	

	Variable cost
	
	
	

	Total cost
	
	
	

	Cost per cup of coffee served
	
	
	


2. Does the cost per cup of coffee served increase, decrease, or remain the same as the number of cups of coffee served in a week increases?  Explain.

2. Comparison of the Contribution Income Statement with the Traditional Income Statement (the data are given)


Traditional Approach



    Contribution Approach
(Costs organized by function)



(Costs organized by behavior)

Sales………………………..             

       $12,000
     Sales……………….………                    $12,000

Cost of goods sold…………                                     6,000*
     Variable expenses:


Gross Margin………………                                     6,000            Variable production…….    $2,000

Selling and administrative expenses:


                     Variable selling…………       600

     Selling……………………
 $3,100*                               Variable administrative…      400           3,000
     Administrative……….…                 1,900*         5,000         Contribution margin……….                       9,000

Net operating income………

          
        $ 1,000           Fixed Expenses:









         Fixed Production………       4,000









         Fixed selling…………..
        2,500









         Fixed administrative……      1,500         8,000








     Net operating income………                   $ 1,000





*Contains both variable and fixed expenses.  This is the income statement for a manufacturing company; thus, when the income statement is placed in the contribution format, the “costs of goods sold” is divided between variable production costs and fixed productions costs.  If this were the income statement for a merchandising company (which simply purchases completed goods from supplier, then the costs of goods sold would be all variable.

3.   Harris Company manufactures and sells a single product.  A partially completed schedule of the company's total and per unit costs over the relevant range of 30,000 to 50,000 units produced and sold annually is given below:

 
  Units Produced and Sold




      
   30,000           40,000              50,000


Total costs:


  Variable costs……   $180,000             ?                        ?


  Fixed costs………      300,000          

     ?


  Total costs……….    $480000
    ?

     ?


Costs per unit:


   Variable cost……
      ?

    ?

     ?


   Fixed cost………
      ?

    ?

     ?


   Total cost per unit
        ?                   ?     

     ?
               

Required:


1.
Complete the schedule of the company's total and unit costs above.



2.
Assume that the company produces and sells 45,000 units during the year at a selling price of $16 per unit.  Prepare a contribution format income statement for the year.

4.  Whirly Corporation's most recent income statement is shown below:









Total

Per Unit


Sales (10,000 units)…………………
…

$350,000
$35.00


Less variable expenses………………..

  200,000
  20.00

Contribution margin…………………..

  150,000
$15.00

Less fixed expenses…………………..

  135,000



Net operating income…………………

$  15,000

Required:

Prepare a new contribution format income statement under each of the following conditions (consider each case independently):



1.
The sales volume increases by 100 units.



2.
The sales volume decreases by 100 units.



3.
The sales volume is 9,000 units.

5.   Last month when Holiday Creations, Inc., sold 50,000 units, total sales were $200,000, total variable expenses were $120,000, and total fixed expenses were $65,000.


Required:


1.
What is the company's contribution margin (CM) ratio?



2.
Estimate the change in the company's net income if it were to increase its total sales by $1,000.

6.   The Alpine House, Inc., is a large retailer of winter sports equipment.  An income statement for the company’s Ski Department for a recent quarter is presented below:

THE ALPINE HOUSE, INC

Income Statement—Ski Department

For the Quarter Ended March 31



Sales ………………………………………………..

$150,000



Less cost of goods sold……………………………..

    90,000


Gross margin………………………………………..

    60,000



Less operating expenses:



   Selling expenses……………..
$30,000



   Administrative expenses……..
  10,000

    40,000


Net operating income…………



     20,000

Skis sell, on the average, for $750 per pair.  Variable selling expenses are $50 per pair of skis sold.  The remaining selling expenses are fixed.  The administrative expenses are 20% variable and 80% fixed.  The company does not manufacture its own skis; it purchases them from a supplier for $450 per pair.


Required:

1.
Prepare an income statement for the quarter using the contribution approach.


2.
For every pair of skis sold during the quarter, what was the contribution toward covering fixed expenses and toward earning profits?

7.  The following data relating to units shipped and total shipping expense has been assembled by Archer Company, a wholesaler of large, custom-built air-conditioning units for commercial buildings:

Month

        Units Shipped
        Total Shipping Expense

	January
	       3
	                 $1,800

	February
	       6
	                 $2,300

	March
	       4
	                 $1,700

	April
	       5
	                 $2,000

	May
	       7
	                 $2,300

	June
	       8
	                 $2,700    

	July
	       2
	                 $1,200


Required:

1.  Using the high-low method, estimate a cost formula for shipping expense.

8.  The Cheyenne Hotel in Big Sky, Montana, has accumulated records of the total electrical costs of the hotel and the number of occupancy-days over the last year.  An occupancy-day represents a room rented out for one day.  The hotel’s business is highly seasonal, with peaks occurring during the ski season and in the summer.

Month


     Occupancy-Days
    Electrical Costs

	January
	1,736
	$4,127

	February
	1,904
	$4,207

	March
	2,356
	$5,083

	April
	   960
	$2,857

	May
	   360
	$1,871

	June
	   744
	$2,696

	July
	2,108
	$4,670

	August
	2,406
	$5,148

	September
	   840
	$2,691

	October
	   124
	$1,588

	November
	   720
	$2,454

	December
	1,364
	$3,529


Required:
1.
Using the high-low method, estimate the fixed cost of electricity per month and the variable cost of electricity per occupancy-day.  Round off the fixed cost to the nearest whole dollar and the variable cost to the nearest whole cent.

2.
What other factors other than occupancy-days are likely to affect the variation in electrical costs from month to month?
9.   Morrisey & Brown, Ltd. of Sydney is a merchandising company that is the sole distributor of a product that is increasing in popularity among Australian consumers.  The company's income statements for the three most recent months follow:

MORRISEY & BROWN, LTD

Income Statements

For the Three Months Ending September 30








        July
    August
September


Sales in units……………….


        4,000
        4,500
         5,000

Sales revenue……………….


A$400,000
A$450,000
A$500,000


Less cost of goods sold…….


     240,000
     270,000
     300,000

Gross margin………………


    160,000
     180,000
     200,000

Less operating expenses:


Advertising expense………


     21,000
       21,000
      21,000


Shipping expense………….


     34,000
       36,000
      38,000

Salaries and commissions…


     78,000
       84,000
      90,000


Insurance expense…………


       6,000
          6,000
        6,000


Depreciation expense……..


     15,000
       15,000 
      15,000

Total operating expenses…


   154,000
      162,000
    170,000

Net operating income…….


A$  6,000
   A$18,000
  A$30,000

(Note:  Morrisey & Brown, Ltd's Australian-formatted income statement has been recast in the format common in the United States.  The Australian dollar is denoted here by A$).


Required:
1.
Identify each of the company's expenses (including cost of goods sold) as either variable, fixed or mixed.

2.
Using the high-low method, separate each mixed expense into variable and fixed elements.  State the cost formula for each mixed expense.

3.
Redo the company's income statement at the 5,000-unit level of activity using the contribution format.

10.   Data for Hermann Corporation are shown below:








Per Unit
Percent of Sales



Selling price……………………
   $90

     100%



Less variable expenses

     63

       70  


Contribution margin……………
   $27

      30%

Fixed expenses are $30,000 per month and the company is selling 2,000 units per month.


Required:
1.
The marketing manager argues that a $5,000 increase in the monthly advertising budget would increase monthly sales by $9,000.  Should the advertising budget be increased?
2.
Refer to the original data.  Management is considering using higher-quality components that would increase the variable cost by $2 per unit.  The marketing manager believes the higher quality product would increase sales by 10% per month.  Should the higher-quality components be used?

11.   Mauro Products has a single product, a woven basket whose selling price is $15 and whose variable cost is $12 per unit.  The company's monthly fixed expenses are $4,200.

Required:
1.
Solve for the company's break-even point in unit sales using the equation method.

2.
Solve for the company's break-even point in sales dollars using the equation method and the CM ratio.

3.
Solve for the company's break-even point in unit sales using the contribution margin method.

4.
Solve for the company's break-even point in sales dollars using the contribution margin method and the CM ratio.

12.   Lin Corporation has a single product whose selling price is $120 and whose variable cost is $80 per unit.  The company's monthly fixed expense is $50,000.

Required:
1.
Using the equation method, solve for the unit sales that are required to earn a target profit of $10,000.

2.
Using the contribution margin approach solve for the dollar sales that are required to earn a target profit of $15,000.

13.   Lucido Products markets two computer games:  Claimjumper and Makeover.  A contribution format income statement for a recent month for the two games appears below:





Claimjumper
  Makeover
   Total


Sales………..


  $30,000
  $70,000
$100,000


Less variable expenses…….
    20,000
    50,000
    70,000

Contribution margin………
  $10,000
  $20,000
    30,000


Less fixed expenses………




    24,000

Net operating income…….




 $   6,000

Required:


1.
Compute the overall contribution margin (CM) ratio for the company.


2.
Compute the overall break-even point for the company in sales dollars.
14.   Miller Company's most recent contribution format income statement is shown below:








Total

Per Unit



Sales (20,000 units)…………………
       $300,000

$15.00



Less variable expenses……………..
         180,000

    9.00


Contribution margin……………….
         120,000

$  6.00


Less fixed expenses ………………
           70,000




Net operating income……………...
        $ 50,000

Required:

Prepare a new contribution format income statement under each of the following conditions (consider each case independently):



1.
The sales volume increases by 15%.



2.
The selling price decreases by $1.50 per unit, and the sales volume increases by 25%.

3.
The selling price increases by $1.50 per unit, fixed expenses increase by $20,000, and the sales volume decreases by 5%.

4.
The selling price increases by 12% variable expenses increase by 60 cents per unit, and the sales volume decreases by 10%.
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